
Word Problems – Multiplying by multiples of 10 

Look for the word times in the word problem. This is a key word as times means multiply. You know this from your times tables. 

Trick – pick out the TWO key word and form a multiplication sentence. 

Problem Calculation Answer 

There are 20 children in each club at Littledean School. There are 9 different after school clubs. How 

many children attend clubs in total? 

 

20 x 9 =  

Miss Haile buys a cappuccino from Costa Coffee most mornings. It costs nearly £9 a week.  How much 

does she spend over 40 weeks? 

 

  

There are 60 iPads in each school in the whole of Gloucester. There are 8 in Gloucester. How many 

ipads are there in schools in Gloucester altogether? 

 

  

At a performance there are 80 rows of 12 chairs. How many people can attend the event?   

There are 9 biscuits in a box of Jammy Dodgers. A café orders 80 boxes for the day. How many 

biscuits are eaten? 

  

It takes 11 minutes to make a toy car. How many minutes will it take to make 40 cars?   

 

 

 

 

  

For the one above, make a problem up for me to solve (or your parents, family member or the children in Chestnut Class that are in school). X 10 =  


